P43 | Recessed Linear
4 Slot

INSTALLATION INSTRUCTIONS

X1, X1M, X2, X6 — T-BAR

FINISH PLATES:

76917

88671

77029

Flush — X1/X1M

Flush — X2/X6

Wall to Wall (WTW)

100-00190-14

#8-32 x %" SL HWH Type F Screw

100-00148-14

#10 x %46"HWH Screw

See Order

Lens

100-00084-08

Troffer Clamp

Housing Aligner Spline

82484

J -
[

Lens Removal Tool

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

US

Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.

© 2015 All rights reserved - All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058

1of 6
04-07-2021



P43 | Recessed Linear i

4”Slot

X1, X2, X6 — T-BAR

INSTALLATION INSTRUCTIONS

— Additional support to structural member may be required. Check with local building codes for requirement.

—  Wall to Wall Fixtures must terminate at wall (no end trims).

— Individual fixtures not intended for row mounting.

CROSS SECTION:

[

4 )

Wiring Support
€ (BY OTHERS)

5 g .

pasiky

Modular
I Housing

— Reflector

™

- 37./8"

APERTURE

<

LED Board

Troffer
- Clamp

 —

Lens

—— 5"T-Bar Center ——

ROUGH-IN DIMENSIONS: &
25" K.O. —— GV —
/

5% —

g9 269
|4

3"
Access Plate 27" K.O. — 53/2_.

X2/X6 T-BAR: LOUVER

SAFETY:

Safety
Cable

¥,‘/7i, [ —

/

s Louver —>
1

LIGHT POCKET INDIVIDUAL:

Fixture Length =T-Bar Centers

ROW DIRECTION: INSTALL FROM LEFT TO RIGHT

INDIVIDUAL FIXTURES

T-BAR CENTERS
DIM ‘A’
24"
36"
48"
72"
96"

Row Length =T-Bar Centers

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

US Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.
© 2015 All rights reserved - All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058

20f6
04-07-2021



P43 | Recessed Linear i
4" Slot

X1, X2, X6 — T-BAR

1. Install troffer clamp 6" from end of housing (4 per housing) (Figure 1).

2. Lift fixture above grid & lower down until troffer
clamps snap onto grid (Figure 2 & 3).

3. Make all wiring connections through access plate.
(Figure 4).

4, Install lens (Figure 5).

INTERMEDIATE:
No Joggled Ends

INDIVIDUAL:
2 Joggled Ends

START/END:
1 Joggled End

Wiring Support
(BY OTHERS) ~> §

FIGURE 2 FIGURE 4 FIGURE 5

Troffer
Clamp

FIGURE 1

Troffer
Clamp

=
<
~

Troffer \

Clamp | D

<—T-Bar

FIGURE 3

1. Install (2) housing aligner splines per seam and secure to housing with #8-32 x %" HHWSL Screw (Figures A1 & A2).

2. Install finish plates at start and end of row and secure to housing using #10 x %" HWH screws (2 per finish plate) (Figure B).
3. Refer to filler kit installation to field trim filler kits (where used).
4. Install lenses for length of row. Last lens to be cut to size. (Figure C).
FIGURE A1 FIGURE C
2
INY S
|
e

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

30f6
04-07-2021

US Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.
© 2015 All rights reserved - All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058



P43 | Recessed Linear

4”Slot

FILLER KIT

INSTALLATION INSTRUCTIONS

Power Sheers

Grinder

Tin Snips

1. Determine FILLER location & measure length of filler needed (Mark cut line around housing).

WALL TO WALL

Measure from last
fixture to end of row (~ 14"

LIGHT POCKET

Measure from last fixture

to ceiling opening
(-~ %s” for X3/X7)

PATTERN

P
P

Measure from last | !
fixture to connector ' '

Reg 3"Filler -

Filler housing marked for cutting

2. Disassemble FILLER Kit & Remove Reflector from previous row.

Wall Mounting

Clips (Perimeter) £

Driver

Reflector
Mounting
Bracket

Reflector

FLUSH SHOWN, SAME STEPS FOR REG 3"

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

US Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.

© 2015 All rights reserved - All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058

40f 6
04-07-2021



P43 | Recessed Linear
4 Slot

INSTALLATION INSTRUCTIONS

FILLER KIT

3. Measure Trim and Mark for Cutting

4. Cutand discard Filler Housing

WALL TO WALL & PATTERN ;7] LIGHT POCKET
//'//j
o ad
/////
/:/\
-
DISCARD
MEASURE
REQUIRED
- F
LENGTH {;'//// MEASURE
e REQUIRED
. LENGTH

=z 0
DO NOT CUT FILLER C,
REFLECTOR* :

5. Assemble Filler Kit with Driver & Trim (Do Not install Reflector with LED arrays).

#6 Tek Screw Use as Template
hen Field Drilling End Plate

/\\/
/

/ Driver

Use Scoring on
Housing as Guides for
Field Drilling/Screws

NOTE: Reflector will protrude,
cut end of the filler housing

* FOR SPECIAL SITUATIONS, THE 2" FILLER
REFLECTOR MAY BE PROVIDED WITH LESS
THAN 2° OF LED BOARD.IN THIS CASE,
TRIM THE REFLECTOR TO THE LED BOARD
— THIS WILL NOT APPLY TO MOST

INSTALLATIONS

6. Install filler into ceiling & connect wiring.

7. Install spacer on reflector in previous housing.

#8-32 Nylon
Spacer

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

US Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data. 506

© 2015 All rights reserved - All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058

04-07-2021



P43 | Recessed Linear §
4" Slot

FILLER KIT
8. Install filler reflector “above” previous housing reflector. 9.  Slide reflector mounting plate OUT and UP one spot to secure
) reflector to previous housing.
DO NOT CUT
REFLECTOR OR
LED BOARDS
Slide our reflector .
mounting plate Adjust height on reflector
mounting plate
NOTE FOR D1R:
Remove larger reflector
. bracket from previous -
?ﬁ(ture ale re%lacte with Slide reflector mounting
e smaller reflector ;
. . . bracket from the cut plate back in
10. Screw reflector into last bracket of previous housing. end of the filler housing

D1/D1G D1R
Reflector Mounting Plate Reflector Mounting Bracket

Filler
Reflector

Previous fixture's
reflector

B
f
o
. Filler Fixture

|
-

CUT AWAY DETAIL
OR SEAM

Previous fixture

PREVIOUS FIXTURE

11.  Complete wiring and install lens.

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

US Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data. 60f 6

© 2015 All rights reserved - All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058
04-07-2021



